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Topic:- General Knowledge and Logical Knowledge

1) On which book is the movie ‘Kai Po Che’ based? /ﬁm ’aﬂg o= f5a YJxdd U 3myTid %?
1. Olympus / e

2. The 3 Mistakes of My Life / 3 ey sifp LBIRKNIELD

3. The God of Small Things / G TS 3% Wid

4. One Amazing Thing / d- AT

Correct Answer :-

o The 3 Mistakes of My Life / 3 ey sifp LBIRKNIELD

2) Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between
Oman QOil Corporation and Bharat Petroleum Corp? /ﬁq I Qe H dt=1 et % forg yRa
3T ad Rrwprg=t off ST oirar €, St ST SiTad SIaRRA 3R HRd Yeiferan &id & g e
T ST 82

1. Satna / Id-Tl

2. Ujjain / i
3. Chanderi /Eiﬁ
4. Sagar / dITR

Correct Answer :-

e Sagar /IR

3) Which constitutional amendment established the Panchayati Raj in India? / fora Taufae e

A HRA # UATgdl I B RITYAT B 82

1. 22" Amendment / 2297 Tdge



2. 75" Amendment / 753"[ R
3. 65 Amendment / GSHT =Y
4. 73'Y Amendment / 73aT REINE
Correct Answer :-

o 73" Amendment / 739 dxe

4) Hindola Mahal and Jahaz Mahal are both located in___./ %3-1?" Hed \?rﬁT uiglvl Hed ?ﬂ""ﬁ _ﬁ
R

1. Mandu / AT

2. Bhojpur / 'J-ﬁﬁ'g?

3. Rewa /3T

4. Rajgarh /XIVITTe

Correct Answer :-

e Mandu/ IIT§

5) Ashoka belonged to: / 3RNP e & Fafea 2
1. Gupta dynasty / Tt 9=

2. Maurya dynasty / R g9

3. Kushan dynasty / @YU CRU

4. Saka dynasty / ]I d=I

Correct Answer :-

e Maurya dynasty / arf gar

6) Swami Vivekananda attended the conference of World Religions in 1903 at / @ fadee A 1903

o, g8l smafora fay et & Iwe= o WnT o
1. London / @i

2. New York / <Jaid

3. Tokyo / Tl

4. Chicago / RGN



Correct Answer :-

e Chicago / RIS

7) Karera Sanctuary is established in the year. / PRI AHUIARTY Y Ard T =T GOIT YT
1. 1988

2. 1981

3. 2000

4. 1991

Correct Answer :-

8) How many High Courts operate in the country? / a'QT T fraq = ey Wﬁﬁf%’
1. 29
2.24
3.27

4. 22

Correct Answer :-

9) The Finance Commission is appointed every / o sma ot £ E_clﬁ auf & ﬁl’gﬂﬁ far siman %
1. 5years/5 Gl
2.3 years/3 ¥
3. 2 years /2 CL

4.4 years/4aﬁ

Correct Answer :-

. Syears/Sa'Ef

10) The first Indian state to achieve 100 percent primary education is ./ 100 Ufr=ra wrafire
fRr&im T == are vgd HRd Iy gl



1. Gujarat / 7]SIRTd

2. Tamil Nadu / d ﬂa:ﬂﬁ
3. Kerala / Hd

4. Delhi / feeett

Correct Answer :-

« Kerala / B3

11) The term ‘Chinaman’ is associated with / ¥Teg "fRFTHT" m Tafta %

1. Football / Bedld
2. Swimming / RIS

3. Cricket / fohope
4. Tennis / éﬁm

Correct Answer :-

« Cricket / fohdbe

12) Who is the current Chief Minister of Maharashtra? / m%aﬁ'ﬂ'ﬁ 'ﬂ@'ﬁl—?ﬁ ﬁq%?‘
1. Devendra Fadnavis / Gd-% e UG

2. Vilasrao Deshmukh / faeiRRT@ W

3. Sharad Pawar / RRq UdR

4. Bal Thackeray / dlcl BT

Correct Answer :-

e Devendra Fadnavis / éaa HaUEag

13) Who is currently the Union minister of Textiles? / I § 9 & U1 73t i %’?
1. Radha Mohan Singh / XT¥T ﬁl%'q ﬁl_s'

2. Smriti Irani /@[ﬁ éﬂ'_‘"

3. Maneka Gandhi / AT el

4. Sushma Swaraj / JUHT TR

Correct Answer :-



 Smriti Irani /Fﬂﬁf ENE]

14) Who is the Cabinet Secretary of India? / HRd BT CACRCRIECEDE
1. Shyamala Gopinath / ZATHAT YT

2. Pradeep Kumar Sinha / UdiU $HR g1
3. S Jaishankar / T SIOT[HR

4. R K Dutta / 3R & &l

Correct Answer :-

« Pradeep Kumar Sinha / U&IJ $UR gl

15) Who is the Union Minister for Science and Technology? / ﬁ?lﬁ \’rﬁ? w & W HA ﬂﬁq%?
1. Harsimrat Kaur Badal /mﬁm

2. Narendra Tomar / %% dIER

3. Uma Bharati / 38T YRdl

4. Harsh Vardhan /aﬁa‘aﬁ

Correct Answer :-

e Harsh Vardhan /Bﬁa?j:f

16) Anti-Leprosy Day is observed on / $F I S feawq @I HATAT AT B |
1. April 25t/ 25 3@

2. January 30th / 30 SFa™]

3. December 1%t/ 1 f¢OTaR

4. July 3"/ 3 TS

Correct Answer :-

e January 30t / 30 SFa™T

17) Cow Sanctuary in Madhya Pradesh is located at: / m T rHARYY A E R G %:
1. Pachama (Sehore) / UdHT (ﬁ@?)



2. Salariya (Agar) / garan (AR)
3. Mangaliya (Indore) /ﬁﬂmm
4. Bandol (Seoni) /E@ﬁﬁ(ﬁ[&h:ﬂ)

Correct Answer :-

 Salariya (Agar) / garan (AR)

18) is India's first dedicated space observatory launched in 2016. / HRd P UYH

guftd siafvar dermen 2 fSr e uauvr 2016 & 5T T AT
1. CARTOSAT / BICaC
2. SARAL / 9Rd

3. ASTROSAT / TR IRIE

4. Kalpana—1 /eyl -1

Correct Answer :-

« ASTROSAT / TR I¥IE

19) Which yogana intends to rid villages of filth and mud and create atmosphere of sanitation. / fre

ST BT I Al B TG TUT BIIS | Yad BT 9UT WS 1a1av0l b1 Fafor #3132
1. Ladli Laxmi Yogana / ATSch A& Ao

2. Mukhyamantri Gram Sadak Yojana /WWWW

3. Nandishala Yogana /:la‘“rmmuﬁw

4. Panch Parmeshwar Yojana / U TRARAR IIoT

Correct Answer :-

e Panch Parmeshwar Yojana / U9 ORHRAR aio1

20) Which Indian won the 2017 Australian Super Series Badminton tournament? / &g yrRda A 2017

SRS GuR aar dsfiie @a ufaaifrar siidt 4
1. Nanda Gopal / <IGI 0Tl

2. PV Sindhu / Ut dt Ry

3. Kidambi Srikanth / fbdall dibid

4. Sai Praneeth / TS yufid



Correct Answer :-

e Kidambi Srikanth /m_cﬁ fepid

21) Select the option that is true about the Statements and Conclusions given:
Statements:

All flowers are seeds

No petals are flowers

Conclusions:

I. No petal is a seed

I1. All petals are seeds

1 39 fapeu &1 99 Fifore sife few T Hy=T sk fAspuf F IR AT B -
DY-:
g pa e &

ﬁémﬁwaﬁ%

L aﬁémﬁwm%"r%
1. 9 vg St fiw &

1. both conclusion I and II follows / F15GY I 3{RR 11 ST R §

2. either conclusion I or conclusion IT follows / IT I ﬁ'ﬁb_ﬁh g7 ﬁ'ﬁb_ﬁf T 3R] A %
3. only conclusion I follows / Had sy 1 ST Dl %

4. only conclusion II follows / Had ey 11 STTURUT Hdl %

Correct Answer :-

e cither conclusion I or conclusion II follows / T af fIsHY 1 AT fSHY 11 SR GG %

22) If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber is
called cloth, what are tyres made of? / gfe paper Bl wood CIIEIGH %, wood B straw bel SIrdl %, straw 1
grass Dgl SITdl %, grass &1 rubber CXIRIGH % Gﬁ?' rubber B cloth CHEIGH %, AR foa iﬁ'\_!‘[ CAKEI
g1 R?

1. Cloth
2. Grass

3. Rubber

4. None of the above / W#ﬁﬂ’#iﬂ?#qﬁ

Correct Answer :-

e Cloth



23) Complete the series choosing the missing number: / T BT DT YT BT YRT BIOIQ:
3,6,5,20,7,42,9,

1. 66

2.54

3.72

4. 60

Correct Answer :-

24) Complete the series choosing the missing number: / T JWAT TAB YT Bt TRT HIOIC:
12, 32, ;152,312

1. 74

2.75

3.70

4. 72

Correct Answer :-

e 72

25) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
21, 25, 33, 49,

1. 80

2.75

3. 81

4. 72

Correct Answer :-

26) The series given below contains a sequence of numbers. Identify the incorrect combination: EiG] Eﬂ "'I'Egc

g H, T=AT3il &1 TP P IR 3 | 7Tad Harel- Ugar-ie:

4,9,19,40,79



1.4
2.40
3.9

4.79

Correct Answer :-

e 40

27) Find the odd one out: / TP faum JTd ﬁm:
115, 100, 90, 70, 45, 15

1. 100

2.90

3.45

4.70

Correct Answer :-

e 100

28) Two dice are thrown simultaneously. What is the probability of getting a sum, which is a multiple of 4. /

31 IR U 1Y Tab T 3 | ST T ANT UTed B3 B UTRIbar f= 8 il 4 FT Ui &1
i
1. 9

1
, 4

w
|t

a1

Correct Answer :-

1
4

29) Complete the series choosing the missing letter/s: / &l &R/ AERT B EGEZELERI Ca| Ul PIfoT:



aab_a bb_a
1.a,b,b

2.a,b,a

3.b,a,b

4.b,a,a

Correct Answer :-
e b,a,a

30) A is taller than B who is shorter than C. D is taller than E but shorter than B. C is shorter than A. Who is
the tallest? / A, B & AaT g Sife fF C A BT D, E A Q1§ AfPA B A BT C, A A BT 8| TG &al
D2

1.E
2.C
3.A

4.D

Correct Answer :-
e A

31) The series given below contains a sequence of numbers. Identify the incorrect combination: EiE] & Tl'sr'

iaar ®, WISt BT TP HH SRR § | TTerd Yo Ugar=e:
325, 259, 202, 160, 127, 105, 94

1.202

2. 94

3.127

4. 259

Correct Answer :-

e 202

32) How many 5-digit numbers can be formed with 0, 1, 2, 3, 5, which are divisible by 2? / 3Pl 0,1,2,3,5, 3

5 3% qrelt Tl fpat Tame fAifa 8 aodl & o 2 ¥ HISa 82

1.42



2.24
3.72

4. 60

Correct Answer :-

e 42

33) Select the option that is true about the Statements and Conclusions given:
Statements:

Some thieves are robbers

All burglars are robbers

Conclusions:

I. Some burglars are thieves

I1. Some robbers are thieves

1 39 fapeu &1 9041 FIoE SifP 2T e =) iR Fepuf F aR A T 2 :
DY-:

PO ARSI §

I AR s1% &

e

L. PO AR AR E

PSSP AR S

1. both conclusion I and II follows / TGS I 3R 11 G S{I¥RUN B &
2. neither conclusion I nor conclusion II follows / 7 81 fT&HY 1 AR T g ey 11 SR I %

3. only conclusion I follows / Had e 1 S{FERUT Dl %
4. only conclusion II follows / Had ey 11 STFIRUT HdT %

Correct Answer :-

« only conclusion II follows / Had ey 11 STTURUT bl %’

34) Select the option that is true about the Statements and Conclusions given:
Statements:

All doctors are surgeons

Some doctors are homoeopaths

Conclusions:

I. Some homoeopaths are surgeons

I1. All homoeopaths are surgeons

1 39 faped &1 991 FIOE SifP AT g Hu= iR Fepuf F aR A T g :
DY-:
Tt STaee Iol &



O Siacy gIRIafds g
e

1. $3 SRS Aol &
1. 94 SRfRe a6l &

1. both conclusion I and II follows / ftG® I 3R 11 IFY SIIXRUT 3 &
2. neither conclusion I nor conclusion II follows / - g)f frspy | Gﬁ“\f “J Eﬂ fspy 11 STTIRUT G| %
3. only conclusion I follows / Had F=py I STTARUT HIdT %‘

4. only conclusion II follows / Had ey 11 S{FHRUT bl %

Correct Answer :-

« only conclusion I follows / FHad =py 1 ST HIdT %

35) Select the option that is true about the Statements and Conclusions given:
Statements:

No charms are harms

No balms are harms

Conclusions:

I. No balms are charms

II. Some balms are charms

1 34 fameu &1 79 Fifog Sifes fag g Syl ok fFrepwl s IR A |1 3 -
DY

Pig aH g T

PIE I FH TH &

frep:

L PIS g A T8 @

LB IHAH &

1. both conclusion I and II follows / FshY I &R II G SR IR §

2. either conclusion I or conclusion IT follows / IT I ﬁ'ﬁb_ﬁh g7 ﬁ'ﬁb_ﬁf T 3R] G| %
3. only conclusion I follows / Had fHY I 3fITRUT FHRl §

4. only conclusion II follows / $Had FTpY 11 ST HdT ?

Correct Answer :-

e cither conclusion I or conclusion II follows / TT al fIsHY 1 AT fASHY 11 SR CEG] %

36) In a certain code language, rng gat goz mpqg means Integrated Rural Development
Programme, tyho rng fem means Improved Rural Economy, and mes rds tyho means Urban
Economy vitalisation. Which is the word for Improved in that code language? /U W PIS
HTHT ff, rng gat goz mpq 1 3 f Integrated Rural Development Programme; tyho rng fem &1



3 Improved Rural Economy a4l mes rds tyho &1 3 & Urban Econom y vitalisation BT Bl ELl
PIs HTNT H Improved & fore 6y Wsg &1 gxawTe fbam T 82

1. goz
2. rng
3. tyho

4. fem

Correct Answer :-

37) If TANGENT is coded NATGTNE, then how is MUSTARD coded? ? / afe TANGENT P NATGTNE

¥ SIS far wiran 8, @ MusTARD & FA HIfSa fvar wmam?
1. SUMTPRA
2. SUMTDRA
3. DRATMUS

4. MUSTDRA

Correct Answer :-

e SUMTDRA

38) If MONKEY is coded YEKNOM, then how is REMEDY coded? / afé MONKEY P YEKNOM T

Fifsd forar oirar 8, 9t REMEDY F R HIfS favar wrm?
1. RDEMEY
2. YEDEMR
3. YDEMER

4. YREMED

Correct Answer :-
e YDEMER

39) If VICTORY is coded YLFWRUB, then how is SUCCESS coded? / 4f¢ VICTORY &I YLFWRUB I
HIfed forar 91T 8, df SUCCESS &1 %4 Sifesd frar Sam?

1. VXEEIVV

2. VYEEIVV



3. VXFFHVV

4. VYFFHVV

Correct Answer :-

e VXFFHVV

40) Choose the number which is different from others in the group: / 39 TG &1 T4 B oI qHqg
# =g = 8:

10, 21, 24, 26
1.21
2.24
3.26
4. 10

Correct Answer :-

. 21
Topic:- Mental Ability and Mental Aptitude

Which of the following is less thanﬁ% 7/ AFateEd § ¥ & 6% g FH B

Correct Answer :-

2544l
g 8



2)
In the sequence shown below, which figure comes next? J=er T3 IR @A A, 39l BTHjﬁ Hia ©r

HREER

2 U =] e

1 u i iv
4 N\
N/
1.
2.
/"\f
3.
4,

Correct Answer :-

3)  Acircular park has a square swimming pool of dimension 150 m x 150 m. If the land area of the park is

116100 sgm, what is the diameter of the park? [ Tdh dodlhl 35471 H UF 150 AT » 150 HIEL
3T T TR x0T it B A 36T T #ffF &TAhel 116110 T &, dl 36 I
SO &4 g

1.400 m /400 HiR

2.420m /420 Hiex



3.200 m /200 Hex

4,210 m /210 Hiex

Correct Answer :-

e 420m /420 HiR

4)
The value of x which makes (%+l] :(1+1—x5] is: /x @l HIA AT (%+1) :(l+%]
CEI IS

1.23

2.2

3.1

4.8

Correct Answer :-

5)

"

n m v

NP ]
o[ >




D D
Correct Answer :-

o[>

4.

®) If the following two squares shown below overlap, which one of the following options is formed? / AT
A gafit 71v 2r @91 wfdenfaa € ar = & & &la a1 & fased a=1ar &

1.
“hhr.

2.

3.

4.

Correct Answer :-

7)



Which of the following has fractions in ascending order? / fFafeaa d & fog # i smRIg vH
ue?

7 6 3
. 18 17 ' 16
6 7 3
, 17 "18 " 16
3 16
3.15 18 " 17
s 6 7
4.15' 17 " 18

8) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 738 T 9 ual & | 319 91, 1 3 T v & faepa gw= A8 82

Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(i) Gerhard
Leimkugelstr. 13,

SchOPpenstebt, 38170

(ii) Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(iii) Gerhard

Leimkugelstr. 13,



SchOPpenstedt, 38170

(iv) Gerhard
Leimkugelstr. 13,
SchOPpenstedt, 38170

1. iii

9) During a certain military drill, when 6,440 soldiers were asked to line themselves in rows
such that they maintain an equal numberof soldiers in each row to form a perfect square, it
was found that 40 soldiers had been left out. In this case, how many soldiers were standing
in each row? / U& fAf3d =0 3T & &M, 99 6,440 Afa] F! WY 3 YHR Ufeaai 91 &
e w1 T R %y dfea o Jue W@ A A o Wt vd ue gut @i 99 9, ot ag urn
a1 fF 40 A &) S & mar u11 339 R & yds dfea # fraq af e @ 92

1.40
2. 80
3. 64

4. 60

Correct Answer :-

» 80

10) In a college, out of 850 students, 230 play cricket; 250 hockey and 360 basketball. Of the
total, if 75 play both basketball and hockey; 68 play cricket and basketball; 37 play cricket
and hockey; and 30 play all the three games, how many students don't play any games at

all? / t& weIfdenay #, 850 faenfial & & 230 firdre, 250 1P T 360 Tbedld Wad ¢ | afe Fa
# W, 75 TRPedld Td gial GHI Wad 8, 68 fhde Td sbeara Wad §, 37 fbde td gial @aa &
T4 30 Tt i @a Tad €, @t foram faendf 1 oft @ 78 @era @2

1. 140

2. 160

3.130



4. None of the above / SWRIgd H I ﬁ'sc BEl

Correct Answer :-

e 160

11) Raman sells his old bicycle at Rs. 1280 and loses 20%. At what price would he have

bought the bicycle? / Y8 7 U=t YR ATSfhd 1280 IUA W a9 forad 37 20% @t g1 g5
I fha Yo wR 39 AIsfhrd &1 Wier grm?

1.Rs. 1760 / 1760 3T
2. Rs. 1600 / 1600 3T
3. Rs. 1900 / 1900 U

4, Rs. 1650 / 1650 34T

Correct Answer :-

e Rs. 1600 /1600 3T

12) The total age of A and B is 12 years more than the total age of B and C. C is how many
year younger than A. / A T4 B ® $d 314, B Ud C &1 1 Mg | 12 a9 3if¥® 31 C, A A foraar adf
BT B

1.11
2.13
3.14

4.12

Correct Answer :-

e 12

13) A and B can together finish a work in 30 days. They worked together for 20 days and
then B left. After another 15 days, A finished the remaining work. In how many days A alone
can finish the job? / A U9 B T T4 3 30 fe- & HHIW #% Hhd &1 3 U 91y 20 fa a& ot
Fd ¢ dUYTd B BYS oral 31 15 3 v, A A9 &rd o JHT Har 31 fran A # A Wy 59 wrd
DI T B TPl 8?2

1. 45 days /45 faq
2. 30 days /30 faA
3. 40 days /40 f&q

4. 35 days /35 feq



Correct Answer :-

« 45 days /45 fad

14) Two pipes can fill a tank in 10 hrs and 12 hrs, respectively, while the third can empty itin
20 hrs. If all the pipes are opened together, how much time will it take for the tank to be

filled up? / & ATl <! B HHI: 10 TF 12 U A YR Fhd! &1 SIafe TH3) A <Pl &) 20 e &
@relt X <t 21 afe ve & v § gl Aferai geht €, @t <t B WA o fanr gwa a@m?

1.10 hrs / 10 9¢
2.7.5hrs /7.54¢
3.8hrs /8dc

4.9.5hrs /9.5%¢

Correct Answer :-
« 75hrs /7.59c

15) Ten men earn Rs.200 each per day. Find the average money earned per day by the 10
men when the money earned per day is halved for everyone./ ¢ =4 ufafed 200 $9T HHT
g1 10 =9l grR1 ufafest srivta em=1fr &1 eia 3ira &9 wafes wfafeq sifsfa em=ifRr Iaft & forg ameht
gl

1.Rs.110 / 110 3
2. Rs.105 / 105 30
3. Rs.100 / 100 3UT

4.Rs.115 /115308

Correct Answer :-

+ Rs.100 /100 394

16) Value of 2180 / 0.4 is: / 2180/0.4 T HH 3:
1. 5450

2. 9550

3. 7450

4. 8245

Correct Answer :-

e 5450



17) Jay started a business investing Rs. 12,000. After four months, Ajay joined him with a
capital of Rs. 16,000. At the end of the year, they made a profit of Rs. 5,100. What should
Ajay's share be in the venture? / S H 12,000 ¥Ud &1 A% #% U oqaa™ UR™ fHam| ar
T UTd, 16,000 TUY B Uoil & AT oy I9H AfWferd gt mar| 99 & ofd | I514 5,100 $UL BT
ATH FHTITI 59 ITH H 3T BT 3 FT AT A1eT?

1. Rs. 2,400 / 2,400 ¥0Y
2. Rs. 2,700 /2,700 IT
3. Rs. 3,600 / 3,600 U
4. Rs. 3,200 / 3,200 394
Correct Answer :-

« Rs. 2,400/ 2,400 3TY

18) Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his

percentage loss. / W8 20 U Ufd gl UR 5 goi 33 Wgar g1 7 313 g &1 3P g1 FT
yfa=Td 9 B

1.11.62%
2.12.65%

3.13.16%
4. None of the above /G”C@Tﬁ 7Y ﬁ's‘ el

Correct Answer :-
e 11.62%

19) A dealer marks his goods at 35 % above the cost price and allows a discount of 20 % on
the marked price. Find his gain or loss percent. / T® fashdr 3u=it a¥gaii B H9 Tea A 35%
SR Sifrd HIAT & Ud TR ST W 20% B P USH Hdl 81 TP AT 3YdT g1 &1 ufawrd
I B

1.6%

2.7%

3.8%

4.5%

Correct Answer :-

* 8%



20) If six workers are required to make 18 desks in 12 days; then, how many workers are

required to make 36 desks in 24 days? ] afe 12 fef o 1sﬁsﬁﬁmﬁ%mwmaﬂ
SIS T gl 3 dl 24 f31 # 36 A9 # T91 & Rw fFaq 4 smazas 32

1.5
2.6
3.7

4.8

Correct Answer :-

e 6

21) A man at present is 4 times as old as his son. In 20 years, if he will be only twice as old
as his son, then the present age of the son is: / T% J&Y qddH 999 A 301 G A 4 AT g7 B
20 aul ®, afe 98 MU UF | Had gIAT IST 8N, o T B IdH1 31 8:

1. 20 years /20 d¥
2. 10 years /10 CL
3.12years /12 Gl

4. 14 years / 14 9%

Correct Answer :-
» 10 vyears /10 CL

22) An aeroplane covers a certain distance at a speed of 240 kmph in 5 hr. To cover the same
distance in 4 hr, it must travel at a speed of / U% gdTs Wgl 5 ¢ # 240 f&H yfq g #1 nfa A
e FAif¥a gt &) au Fear 31 3t gl Bt 4 92 A e & e 3 31 7fa 9§ g
A1 A1

1. 280 kmph / 280 fodt wfdl ©ieT
2. 300 kmph / 300 f&dt gfa der
3. 325 kmph / 325 foodl ufd et

4. 275 kmph / 275 fopHt Ufd geT

Correct Answer :-

« 300 kmph / 300 fooeit gfa et



23) Rahul is older than his Sister by 4 years. If the sum of the ages of Rahul and his Sister is
the Square root of 324, then find the age of Rahul. / Jgd U1 &9 A 4 9¥ §371 31 TS g v
ITD! TG DI AT BT AN, 324 FT TG g, A Ig B MY F1d B |

1.11
2.12
3.9

4.8

Correct Answer :-

e 11

24) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: Fﬂ%&“m‘é mﬁ, ﬂ&ﬁ@'\‘l@T@fﬁWﬂﬁ%ﬁ%l Ted YIS $ Ugda™:
i.derri0215deirr

ii.derrl0215deirr

iii.derri0215deirr

iv.derri0215deirr

1. iii

25) Find the average. / fEa ATd 2y
70, 76, 82, 88, 94 & 94

1. 87

2. 88

3. 86

4. 84

Correct Answer :-

. 84



26) Today, the age of a father is thrice the age of his son. After 5 years, the age of father will
be 2.5 times the age of his son. The age of son today is: / 3Tel & fa, fUar &1 31y IS el L]
Mg A 71 1 81 5 9 ugTa, fUrar #Y 3y g3 $t g &Y 2.5 T 7 A e & o g 3 ey 8

1.22 years [ 22 GL
2. 20 years / 20 G
3. 15years / 15 ¥

4. 18 years /18 a¥

Correct Answer :-

e 15 years /15T:|TST

27) A person travels a distance of 30 km by car at a speed of 60 kmph and a distance of 50
km at a speed of 25 kmph by bus. What is the average speed? / T& afad R gRT 60 fHH ufa
HeT @ fd | 30 fHh Ft g&f a9 Hvar 8 vd 99 gR1 25 5 ufa ger ot wfa & 50 faht A gh o
FRar g1 3ia nifa T 82

1. 25 kmph / 25 fodt ufd der
2. 30 kmph / 30 foit ufel ger
3.32 kmph / 32 fot ufd ger
4. 40 kmph / 40 fodt ufd ger

Correct Answer :-

« 32 kmph / 32 foHt ufa et

28) Imran has Rs. 1,200 when he goes to the market. He buys 2 shirts for Rs. 350 each, a book for
Rs. 110 and spends Rs. 75 on buying fruit. How much money is he left with? [ SHRIA & Uy 1,200
¥R & o9 98 SR 4TI 394 350 TUY Ui HHT B &R A 2 FHW WY, 110 30 $ TP Teab

Gl Td Ba WiieA & g 75 00 @ f6d 1 39F U fohasit omRIRT < 82

1.Rs. 315 /315309
2. Rs. 180 / 180 3T
3. Rs. 285 /285 34U

4, Rs. 390 /39030y

Correct Answer :-

e Rs.315 /315300



29) A fun fair had an entry fee of Rs. 250. The fee was reduced by 20 % and the revenue from sale
of tickets increased by 12 %. What is the percentage increase in number of visitors? / Udh AR

A BT YA b 250 T B | b BT 20% H4 foan w1 o fewe & fasra S ura woma & 12%
3t 33 g3 | SATigH! Bt w& H g &1 ufa=a w1 32

1.52%
2.40 %
3.46 %

4.20%

Correct Answer :-
e 40%

30) A student scores 90%, 66%, and 54% marks in the test paper with 100, 120, and 150
respectively as maximum marks. The percentage of his aggregate is: / Uh faemdff 3 100, 120 €4

150 ARFay iH! aral Tem Uy H HURM: 90%, 66% T 54% 3w Afold frd §1 3T Fa anr
BT Ufa=Id &

1.72%
2. 68%
3. 65%

4. 70%

Correct Answer :-

e 68%

Topic:- Science and Simple Arithmetic

1)
In the adjoining figure, 1 || m and’t’ is the transversal. Find the value of (x - v). / f&U 3w a7 #, 1 || m
FHR 't IR Bl (x-y) & A AT S

r



1. 20
2.5
3.10

4. 15

Correct Answer :-

2 1n the given figure, If 2CAB = 60°, ~ABC = 35° then sADB = ./ BT aw =

#, afe .CAB = 60°, -ABC = 35°%, dr 2ADB = |

1.75°
2. 85°
3.55°

4. 65°

Correct Answer :-

o 85°

4. 123



Correct Answer :-

4)

If (x-ij = 12, then the value Df12+x—lzis:leﬁf{x-ij =12 %‘,FT‘FM2+I—12 &1 A §IIM:

1. 146
2. 148
3. 140

4. 144

Correct Answer :-

5) Find the T.S.A (in cmz) of a cylinder whose diameter and height is 28 cm and 16 cm, respectively. /

?émmwwﬂuam@ﬁﬁ.ﬁ)mﬁﬁﬂ%mamm: 28 Y. 3T 16 AT
|

1. 2460
2.2230
3. 2320

4. 2640

Correct Answer :-

» 2640

6) A biosphere reserve is divided into: / \—?r?msa A ?{'—'I'l}l favnfora foear man %z
1. Five zones /t{'\i'%[ é?l’)hﬁ
2. Four zones / IR &3 |

3. Six zones / ¥¢ EaEﬁfI
4. Three zones / A9 833?[3?{

Correct Answer :-



e Three zones /T‘ﬂ:f a'Ha‘rfr

7) When acid is diluted, the concentration of hydronium ions in the solution . [ SId &1

dIPd gy, a Rega A gsifau A S g |
1. increases / # gfG Bt &

2. does not change / ¥ TRafdd T&i g 2

3. decreases / & HHI gIdil §

4. cannot be measured / &1 HTUT gl o Ybdl ©

Correct Answer :-

e increases/ ﬁq@@?ﬂ %

8) After allowing a discount of 8% on the marked price, an article is sold for Rs.1288. Find its marked

price. / 3P d T W 8% I e ¢ & I1G, TH a¥] 1288 T | 941 75 | THDT 3ifHd e J1d H1 |
1. Rs. 1354/ 1354 30
2. Rs. 1345/ 1345 300

3. Rs. 1542 /1542 3099

4. Rs. 1518/ 1518 34T

Correct Answer :-

e Rs. 1354/13543098

9) If an angle 'x' of a parallelogram is 24° more than its adjacent angle, then the value of 'x' is: /?T% U

TR TgYS BT B 'x' TP AR~ BT A 24° 34w ¢, @ 'x' &1 HAH §HM:
1. 110°
2. 102°
3.98°

4.76°

Correct Answer :-



If one member of a pythagorean triplet is 10, then the other two members are: / afe ISR e &1
TP e 10 8, a1 39 &) Fee gh:

1. 15,17
2.35,38
3.63,65

4.24,26

Correct Answer :-

11) Vertical gardening on Metro pillars and Expressway pillars has been undertaken in Bangalore. This
will help in serving: / SR # A & THY 3R ToqOy AT & WHY WR SHeafeR arTart &1 srd
uRY far T g 1 39 39H Heg faant:

1. More oxygen emission only/ﬁlﬁ? 3P SRfe I
2. Green landscape only /Wgﬁmﬂ{iﬁ

3. Air purification only / WWW

4. All of the above /B'Cl?iaﬂﬂlﬁ

Correct Answer :-

e All of the above /B'Cl?iaﬁﬂﬂ-ﬁ

12) An object placed at the bottom of a tank filled with water appears to be at a depth smaller than its

actual depth. This is due to: /WWW@ Wﬁﬁﬁﬁ@%ﬁ%ﬂﬂmwg
HH M08 W W1 g% faars usdl 81 TH 50 SR 8:

1. Dispersion / ICEAWE]
2. Refraction / 30ad
3. Total internal reflection / Pl N IGIRCA N CRE|
4. Reflection / TRTGT

Correct Answer :-

e Refraction/ \?r{tla_ch

13) The sum of three consecutive multiples of 7 is 840. The smallest of these multiples is: / 7 F I

PURT T[UTIh] BT ART 840 81 370 A T BIeT YUIP 3:



1. 350
2.273
3. 266

4. 252

Correct Answer :-

e 273

14) The rate of flow of electric charges through a conductor is known as: / U dIdd | gipx ﬁ?jﬂﬂ

3T & YaTe B! <R e pgardi 2:
1. Electric potential / ﬁgqa fquya

2. Electric current / ﬁ_g{q?f YRT

3. Electrical energy / ﬁgq—d Solt

4. Electric power / ﬁ@ﬁ e

Correct Answer :-

« Electric current / [dgad 4RI

15) The volume of a cubical box is 19.683cm?>. Find the length of its side. / Yb YATHR fe= &1 3mua

19.683 T QY. B 1 STD YOIl H} AT I B
1.2.3 cm/2.3 9Hl.

2.0.27 cm/0.27 94T,

3.2.7 cm /2.7 94,

4.0.23 cm/0.23 9H.

Correct Answer :-

e 2.7cm/2.7 9H,

16) The production of goods in a factory increased from 40000 to 50176 in two years. Find the annual
rate of growth of production. / U% et § &} quf H YTH & ITS | 40000 |V 50176 9P B g
g3 | SATEH 31 i &1 a1 = F1a B |

1. 10%

2. 12%



3. 8%

4. 5%

Correct Answer :-

e 12%

17) Both power and manure are provided by: / =1 o @ foraads gRT UlaR 9YT |G gl g Eay
ST %

1. Biogas power plants / o9 I T 4o

2. Hydroelectric power plants / \Siﬂi?llgiaId RIESESRE|
3. Thermal power plants / &S Qfad H44
4. Nuclear power plants / AT Rfad o=

Correct Answer :-

» Biogas power plants / o9 T wifad o

18) Which of the following statement is TRUE with respect to all living organisms? / gt sifaa shia &

e ¥ =T A A S aT FUT I 72
1. They expel waste products only /aﬁl'l% Wmﬁmﬁﬁmgl

2. They grow and reproduce more members of their species only/aﬁlﬁ?aﬁﬁ% 3R 3T gl & 31
Tl &1 IR $Hd ¢ |

3. All of the above/G'CPjaﬁqlﬁ

4. They need food and convert it to obtain energy only/ﬁﬁlﬁ; IS &1 Il Bﬁ?ﬁ% 3R Soif T
IR & forg I uikafdd w=d g

Correct Answer :-

« Al of the above / ITYad T+t

19) Lymphis: /Fﬂﬂib'[%:

1. Blood without WBC / Sscgal! Ifgd o

2. Blood without RBC / 3R Xgd Iad

3. Plasma itself / TG Sidged

4. Plasma without platelets /@mmﬁm

Correct Answer :-




« Blood without RBC / 3RETET 3 %("I Yd

20) Proteins are essential for ./ I & ﬁl’ll TdRgPh %'I

1. getting essential energy for the activities of the body / IRR P fbaraf %T‘LGR?\P[ Wftﬂ%[ & ﬁ'I'Q
2. growth and development of new cells /Héﬁﬁ]wshaﬁq@ 3R faTg

3. quick response of the cells to react / uﬁﬁm%@ﬁ@m@ra"ra&a ﬂfav_cﬂ

4. decreasing blood pressure / Ydd d HH B B fog

Correct Answer :-

« growth and development of new cells /:léﬁﬁmaﬁaﬁq@ 3R Ty

21) Why do female mosquitoes need highly nutritious food in the form of blood? / HIGI HTOX PIIF D

U = TIVUrge HISH P TaaddT /) gidl 872

1. They have mouth parts to suck blood /Wﬁ?ﬂﬁﬁ%mﬂ@mmél

2. They are carnivores / arﬂﬂ'@ﬁaﬁgl

3. To be able to lay mature eggs / giuad Wﬁ%ﬁﬁﬁ%ﬁﬂl

4. They like to spread disease like malaria through blood /3W$mmﬁwaﬁwwm
2GRS

Correct Answer :-

e To be able to lay mature eggs /WH@T@%WW%%’QI

22) Which of the following is not true about cell theory? / PP frgia & A A I ST ar
81 82

1. Old cells divide to give new cells / QXTI BIRABTY fHIFTT BT R 5 BIRNBTE SR & |
2. All living things are made up of cells / gt geita aﬁq HifRreref ¥ At Gl %I
3. All cells are identical / G4 W JHEY @T‘ﬁ % [

4. The structure of an organism depends on its cell organisation / ST B TRTT STD PIRGIT G137 TR
R Pt 1

Correct Answer :-

« All cells are identical / GHt aﬁﬁmrq SRS Eﬁ?‘ﬁ % [



One of the following sets does not qualify to be a species. Which is that set? / fra Qi 4 9 ve yarrfa

PEAM A T 21 e P AT AT 22
1. The different animals living in the neighbourhood / 3TH-UTYH tl@ﬂ T g g faft Uyl
2. Humans living in Africa, America and Europe / 3T5b1aT, 3R 3R qRIU H ¥ I8 AH

3. Dogs belonging to different breeds — Alsatian, Labrador and Pomeranian / fafts Tl & ﬁ -
i, TSR 3R TR

4. Different breeds of cows like Jersey and Holstein / TR &t fafie %et S oY, greec =

Correct Answer :-

 The different animals living in the neighbourhood / TH-UTH CI@H T ¥g ¥g fafte Uyl

24) Acid rain is caused by oxides of ./ S auf & GI’[’G?ITE{S & PRI ﬁ’cﬁ

gl
1. phosphorus and carbon / BIRGRY dYT Hla

2. sulphur and nitrogen / Hethx dYT "II%(EIUH

3. sulphur and phosphorus / Hethr dYl BIRGRY

4. nitrogen and carbon / ﬂl‘ég?l\il“l TUT BT

Correct Answer :-

« sulphur and nitrogen / e qUT AT IS

25) Alloys of which of the following metal are used for making aeroplanes and automobile
engine. / =1 & A fra urg & frarg ) fawm ok siferiamsd 914 a9 & fore Suah far siran
gl

1. Iron/ Fh?T
2. Aluminium / Qﬁﬁlﬁ'q-q

3. Mercury / URT

4. Copper / GIEI

Correct Answer :-

e Aluminium / ﬁ?ﬁﬁm

26) Find the value of 'a' if (6x + 5) is a factor of 6x2-7x + a. / Tlﬁ' (6x +5) '{IUT-'-IE'S'% 6x%-7x+a
BT, 1 'a' BT HIH F1d P



1.5

2.-10

3.9

4, -8

Correct Answer :-

e -10

27) In the aquatic, food chain consisting of crane, phytoplanktons, tadpoles and fish, the position of

crane is: / STOITg T mﬁﬂﬁ%, YTy Widd, mﬁma %ﬁ@fﬁfiﬁ"ﬂ
1. IV trophic level /IV PlIEEIRSE

2. 11 trophic level /I QY& dT TR

3. I trophic level / I Tif¥oar R

4. III trophic level / III Uil W)

Correct Answer :-

IV trophic level /IV QfYHar TR

28) The perimeter of a rectangular field is 210 m. If its breadth is 40 m, then its area (in mz) is: /

TS STIATPR A ST URATT 210 H. 31 AfS S0 TS 40 . 3, T 591 Gt (@i 1. #) g
1. 2600
2. 2800
3. 2820

4. 2540

Correct Answer :-

.« 2600

29) The diagonals AC and BD of a square ABCD meet at '0'. If OC = 16cm, then BD = ./ Tf
ABCD & fa®uf Ac 3R BD fdg '0' W frea §19f¢ o = 168 8, @i BD = |

1. 30 cm / 30 I

2.32 cm /32 At

3. 16 cm / 16 99t



4,28 cm /28 TH

Correct Answer :-

e 32cm /32 9H

30) The histogram depicts the marks obtained by 45 students of a class. How many students
obtained 50 or more marks and less than 70? / A= maafa A 45 Bt GINT YTl 31 Bl E'R’I'qu
a1 8| fpam Bt 7 50 J 3iftre A= 70 & #9 s wrw feru 82

10
9
8
7
No of Students &
5 i 5
BT AT F&
3
2
1
0
o 10 20 30 4ap S0 &0 T0 BD
Marks
=
1. 16
2. 19
3. 15
4,18

Correct Answer :-

e 18



